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Time : 20 Minutes " Objective (%> O O]
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_L{::ff;,wfg,ﬂkngljjb'?ﬁﬁvé.._-':Z..'-.-/na..U’.f;_):ﬁbfé.;&.l/ﬁd'r/;/géﬁ}fﬁ ‘ufzé.: Dxf C, B, AzlIzbl tyyins
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fillthat circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question.

1 1. Point(-1,4) liesin the quadrant. et Ll (4B 1
IV ¢ ¥z (D) III &< (€ IT Gty (B) I Sy (A
2. 11 4 < B thenA-B isequalto —c byvsls A-B In 4c Bl R
B-A (D) ¢  (© B B A (A)
2x+1 2x+1
3 (x +'1"'](;\,"'_T) is a /an “Canld G+ D(x—1) -3
identity =L (D) proper fraction ~_>) (C) equation =lsir (B) improper fraction A2 (A)
4. If uxv’ then e uxv: fi 4
v =1 (D) w’'=k (©) = kv? (B) u=v' (A)
5. In a continued proportion *.T_FI_L:’;/LJ c esb Ma pLab=bic ...-fJJ"V -5
ath=b:ic ¢ issaidto be proportional to a and b.
fith  U£L (D) means ks (C) fouth ¥z (B) third = (A)
6. Sumofthe cube roots of unity is Y3 ¥l 361 -6
3 (D) -1 (C) 1 (B) 0 (A)
7 Roots of the equation  4x” —Sx+2=0 are _.,,:.,,"}, CoAx =5x4+2=0 an- 7
natural (L (D) rational ¢ (C) imaginary (54 (B) irrational FtF (A)
8. Thelinear factorsof X’ —15x+56 are . G L » LXP-15x+56 _8
(x+7)and (x—8) (B) (x=7)and (x+8) (A)
(x+7)and (x+8) (D) (x—=7)and (x —-8) ()
9. Angle inscribed in a semi circle is ~e bl ¥ fdy P _9
7 s T T
& (D) 2] (C) 7 (B) 3 (A)
10. The portion of a circle between two radii and Lyt st 3L 20 6 P I 10
an arc is called _._L]:'I_L;'I, « sl
radius v (D) chord J+ (C) segment 5 (B) sector £ (A)
11 Anarc subtends a central angle of 40" b s SSr 60 S L - 407 0 S euig 1
then the corresponding chord will subtend a central angle of
80" (D) 60° (€ 200 (B) 40° (A)
12. Locus of all points in a plane equidistant from a -cl-lril-:':ux@‘lﬁxua.ﬁ 2 er bEPUL SR 12
fixed point is called
circle +5 (D) diameter /5 (C) circumference =+ (B) radius v (A)
13 Acircle has only one Q- Sl S bkl 13
centre ’f (D) diameter & (C) chord # (B)  secant SL-“ b (A)
14, Cosec’@—-Cor’0 = 2 ¢ = Cosec’d-Cot’0 .14
1 (D) Tand ©) 0 (B) -1 (A)
15 The spread or scatterness of observations in a data set is called - el L Kool u", _15
range =~ (D) central tendency ;—J[JJJ}C* (C) dispersion  JEH (B) average kel (A)
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Note :- Section | is compulsory. Attempt any three questions from Section IT but question number 9 is compulsory.

Section | | lif.b

2. Write short answers to any Six parts : (6x2=12) :é{i&&fzﬁ.’ﬁ'lzq-r_-(j/ -2
I. Define reciprocal equation. _Z-;-.(._f_u,;-\}’.:,hlz w“ -
ii. Solve by factorization. Sx* =15x &S ot %% _ii
iii. Define symmetric function. S ST i
iv. Evaluate O+d4o+d0) LEped v

v If @B aretherootsofthe _zewed §alx 2 iunn £ 42 =5x+6=0 =i B.a Jiy

equation 4x” —Sx+6=0 then findthe value of & X% ﬂz

vi. Find the discriminant of the following quadratic equation -éf}”a.&ﬁ) Keblen Jﬁd;ufifw _vi
4x* ~Tx-2=0 ' 4x’ -7x-2=0

vii. Define inverse proportion _é.@fufu?“ /:"" ~vii

viii. Find the third proportional to {Jr—y)2 , 4 —y“ J‘.é(}”__./al LA _viii

. if Z2%XY ang z=36 when ¥=2, y=3 gk z j,y=3. x=2 _; z=36 ,y ZXXY A ix

then find 2z
3 Write short answers to any Six parts : (6x2=12) -z:::.;fz/“’é,mfga.éf -3
i What is proper fraction. ‘-'{._gyri_._f//.,.-’.fs i
ii. Resolve "l__] into partial fraction. -"f"rt}'{ﬂ w2 f ;;__1 =i
iii. Define One - One function. -?,—'-é‘;UFJL&:" e - e il

b e w £ LxM 5o M={3.4} . L={abc} fi .iv

v, If L-‘-‘{G,b,ﬁ‘} M= : 3-4} then find two binary relations of LxM

v. Finda andb if (@-4 . b-2) = (2, 1) S b aw
vi, It #={1,2,3,4,5,6} B={2,4,6,8} » B={2,4,6,8} , A={1,2,3,45,6} i i
prove that AB=BN 4 ANB=BNA sz op)

vii. What is cumulative frequency? (Lo §F vii
viii. The salaries of five teachers in rupees are given below, _V_f‘.‘ém(gfuii;:;)u_?l}"mi'wégﬂdj - vii
find range: 11500, 12400, 15000 , 14500, 14800 A
ix. Find arithmetic mean by direct method. 12,14,17,20,24,29,35 45 SR (belsth Vo QL -ix
4 Write short answers to any six parts : (6x2=12) -’é:.:l,b?/‘yﬁyl'zl'{c'.-(jf -4
i. Convert 135" into radian . ZEJetyt, £135
i. Define Degree. _ A i
iii. prove that sin0 reasy l+tand S i

cost
iv. Define Right angle. _.’-_fz”...g/‘-'c;,-';.f'ﬁ -iv
v. Define interior of a circle. _&_‘:r.@j"J;;;x.'L;.;i'.~ -V
vi. What is meant by length of tangent? ‘.‘q_:i/t_fc..;jy"dl;»-' -vi
vii. Define circumference of a circle. _/é_:f...é_’;J,!z‘_ch.f‘) -vii
viii. Define central angle. _é_gj{{,_,,r; -J,"} —viii
ix. Define radius _é._.y/‘.’- J Sl <ix
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Section -l .(”“2’

(U @) 4T Lvr) -6V 9 AIwmfrchizlatnde 3 o
Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 is compulsory.

5.(a) Solve the given equation by using quadratic formula 5x° +8x+1=0 e f et rullrsiGs » (@)-5

. i ; . (b
(b) prove that P +}’3 g —3xyz:(x+y+z)(x+(uy+wzz)(x+a)2y+(oz) ,r".f_ﬂ.v,t (b)

6.(a) Using componendo - dividendo theorem, solve the equation 2L F e JEAL o J= s i o (a)-6

(x=2) -(x=4) 12 (x-2) - (x-4)’ _12
(x=2) +(x—4) 13 (x-2)2 +(x-4) 13
N S 4
(x-D}(x+1)

(b) Resolve into partial fractions ,zz_{inr.‘.' o gz (0
ANBY =AU B £ et 7 U={,2,3,4,5.6,7,8,9,10},4={1,3.57.9}, B={2,3,5,7] A )7

(@) U= (1,2,3,4,5,6,7,8,9,10}, 4={1,3,5,7,9},.8={2,3,5,7} then prove that (ANBY =4'UB

(b) Calculate variance for the data 10, 8,9,7,5,12,8,6,8.2 e o FE v ks (D)
8. (a) Prove that (tan @+ cot &)(cos 6 +sin (9) =sec @ + cosect féc&:t’ (2)-8
(b} Draw two common tangents to two -?{;L"Jjﬂ Lt _u;.*lf“S.S it (‘ 25 u’l»&/_us}b a_;s.?_)’ o (b)

touching circles of radii 2.5 cm and 3.5 cm.
9. Prove that a straight line drawn from the _f_':m.-f ,;}:Ja;bﬁ sl Si S (52 2 )}:Lf(ar}?icw}'; fi:’f:/_v.h" -9
centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.

OR

e

Prove that the opposite angles of any quadrilateral W_?c'“_ﬁq.,.ﬂ)'d/‘ﬁfﬁ’d:_.sf},J:-L‘af—L;;(:;d:ff:Jc.fiju’rfff__f.:c&

inscribed in a circle are supplementary.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two

or more circles will result in zero mark in that question.

1. 1 Power set of an empty set is bl s ¥ ordb _q_q

o {ldl {a} ®) N

2. Ahistogram is a set of adjascent Loe o 25 a2
triangles Ku}'ﬁ' (D) circles &U:7  (C) squares KU, (B) rectangles KUAET (A)

3 200 = =20 -3
3600 (D) 12000 = (©) 630/ ® 360 ")

4. The distance of any point of the circle to its centre is called et 6F Pl vl §L o -4
anarc 7 £ (D) achord o i (C) diameter % (B) radius 1w (A)

5. Acircle has only one e ... JEL S K s LI -5
secant 51?1,9‘ (D) chord 2 (C)  diameter B (B) centre Jr (A

6. A 4dcm long chord subtends a -§ ...« b € tb —e bl € 607 4 L 5 JJL‘J‘,J Fall 6

-

central angle of 60" The radius of this cir

4 (D) /

7. The measure of external angle df a reguld

2 (B) 1 (A)

-{.’.dﬁ zfﬁ"\};__ﬂ) d;_,gr“_/. A bg o

bis b
P | 8, ¢ 3 (B) 4 (A)
8. How many :?;ngé n ¥ drawrtrom a point outside the circle? - rEbsS VT o & AL b -8
PR e e 3 ©) 2 (B) 1 (A)
: '(.\‘ - 't.\-,: & 5 L
9. A collecion oTRMMERfin&d distinct objects is called I A O
union set .,;'E{f /(55 set < (C) powerset  Z» sl (B)  subset -.*»:G} (A)
10. If  wocv® ‘ther Jucv? S -10
uv’ =1 (D) u=h’ () uv' =k (B) u=v> (A)
x+2 . xX+2
11 Parllal fl’acllon Of (x_f_l\’(xz +2) are Ofthe form -L{?U?KJK /)// U"SZJ {x+l}rx2 +2) -11
A +Bx+c Ax+B+ [ A 2 Bx A i B
x+1 ¥+2 © x+1  x*+2 (©) x+1 xt+2 ®) x+1 42 W
12. Roots of the equation 4x* -5x+2=0 are --.,fu’ju L 4x* -5x+2=0 ohbls 12
equal «Iz (D) raional *t (C) imaginary (5F (B) irrational FtE A
13. Find ¥ inthe proportion 4:X::5:15 S x f4:x 5005 _13
3 : 75
12 (D) 4 (C) 3 (B) 4 (A)
14. The quadratic formulais e Urdi S 214
b+~b* —4ac -b++/b* —4ac
XY= B X=—" (A)
2a (B) 2a
b+~/b* +4ac —b++/b* +4ac
W e D I e ©)
2a (D) 2a
15, I a,p are the roots of e Jusn & Tt —x+4=0 =i @, 8 S _15
Ix'-x+4=0 then af s
- o 7 4 4 "
7 (D) 4 (C) 5 (B) 7 (A)
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Note :- SectionIis compulsory. Attempt any three questions from Section IT but question number 9 is compulsory.
Section | Jil»
2. Write short answers to any Six parts : _ (6x2=12) :é}f:.glz/ﬂérlzfga.éf -2
i. Define reciprocal equation. &y Sl
ii. Solve by factorization X' =1lx=152 A AT P
lil. Find the discriminant of the equation 2x> —7x+1=0 GGk 22X - Tx+1=0 ehi <iii
iv. Evaluate O+40+40°) J‘.dfr'}-"..-..f i
e p > 5
v. If @0 are the roots of the _&_iﬂf)h’;.fJE+g Jusm £ X +px+q=0 4l P @ f
2 g_+£
equation ¥ +PX+q=0 yon ovaate 8 a
vi. Write the quadratic equation having roots -2. 3 . -Ux -2.,3 )J&u;:éia.;-':l/'&;; 3 Vi
vii. Find X in the given proportion 8=x:11-x:16—x:2f-x e LI x g Lz i
1
A=T2 oo Mol r=3 pd=2 , Ao .
£Z - : o
sus ]
Vi g o —5-and A=2when r=3, Find r when A— 72
r
X. Find a mean proportional between 200 , 45 ek W b i
3. Write short answers to any Six parts : (6x2=12) :i{f:—bwﬁi'm'{cdf -3
i. Define proper fraction. -c:'.’ﬂ Il
l 3 I
ii. Resolve ?_—_I into partial fraction. ié_&:{d}/ Sozd ;2‘:—1 _ii
iii. Define one - one function. 4ch...m’/‘-"d/jb i - i i
iv. If X={1,4,7,9} and Y={2,4,5,9} EYNX J oy Y={2,4,5,9} 2l X={1,4,7,9} A v
If X={1,4,7,9} and Y={2,4,5>9} then find YN X
v. If /1={0,2,4} . 5':{-1,3} thenfind AxB _&ieb AXB ?xb’={—1,3} ,A:{0,2,4} A
- XxY={(a,a),(b,a),(c,a),(d, D} et ¥ o X or i
vi. Findthesets X'and Y it XxY={(a,a),(b,a),(c,a),(d, a)}
vii. Define Median. -.’-_j";...y/"’.J::b; ~Vii
viil. - Find arithmetic mean of the following data by direct method ~E b QU B titn e« 3 sy _ viii
12 , 14, 17,20,24, 29,35, 45 12 , 14, 17,20,24, 29,35, 45
B P it Ut s b 0 2 2Pl et ix
ix. The marks obtained by seven students in mathematics are as follows. Calculate arithmetic mean.
IS K 2 3 4 5 6 7
No. of Students 0
Ao S P 45 60 74 58 65 63 | 49
Marks obtained i .
4 Write short answers to any six parts : (6x2=12) _ﬁ:.:-.uzﬁép!zgadf -4
.. What is quadrental angle? Sl e ol 8 i
i Sin’o - .
. Prove that C?OSQ + ('059 = S(’.Cg ,(Ef.{_"qif =1
; 1 g 1 ,
ii. Find " when /=4 ¢ 5':2 radian : Fl=4 92;@41 B R

(Turn Over)



(2)
iv. Define obtuse angle. g E A L2
o SWL- Gy ~10-) , ,
v. What s circumcircle? Seslp e ool ¥ v
vi. Define tangent of circle. -éff._@/;"d/ufb’.f_g.}u -vi
vii. What is segment of a circle? Sl Y 070 o _vii
vill. What is cyclic quadrilateral? esipl < :Sz S _viii
ix. Define In-circle. e _.y/'?uﬂ}u i ix

Section - Il (2

(A 8) 4T Lins) -9 AU iseyzl ctvided) o

Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 js compulsory.
S.(a) Solve the quadratic equation by using quadratic formula. _.’i_f;,""ur,ﬁ&» ry } SR G s (a)-5
249x =5x" 249x =5x*

5

i :2 =2 - 2 ” =2¢ { - .
(b) Solve the simultaneous equation X +2y" =22 5x +y =29 EF S Ui m (b)

WS (=3 U3 p Lz S v (a)-6
(x+5)° +(x=3)) 14

6.(a) Solve by theorem of componendo - dividendo

(b) Resolve into partial fraction. ——?\—f-i—a,— -5,1:'{,;' Sz (b)
Bx+2)(x+1) ’

(A-BY = A/UB JEJid in B={14,7,10}  4={1,3,5,7,9)  U=1{1,2,3,4,5,..10} /i (@).7

7(a) 1 U={1,2,34,5,..10) A={1,3,5,7.9), B={14,7,10} then verity that (A-BY =4UB

(b)  Calculate " variance" for the givendata 10,8,9,7,5,12,8.6.8 2 _g{r,lv " F ¥ ot L2, (b)

SecO+1  Sect+1
Sect) —1 Tand

8.(a)  Verify the identity Sk Sl (a)-8

{b) Draw two common tangents to two -g”gu,’;ﬁ w Lol ZC7 3.5 .0 £25 st L E._x.».*”._:";f; 2 (b)
touching circles of radii 2.5 cm and 3.5 cm.
9. Prove that two chords of a circle which are Bl n ALl e Tz Lot .fé’f_:—..mﬁ -9
equidistant from the centre, are congruent,
OR L
._,‘w J ,‘ff /r"....', oo v ruf o ) ie o3 N z{(é’n 1
el & sl oLy )’.el:/g,;’fuu'ﬂ:)bg S LTy oSS G PR I g < -
Prove that the measure of a central angle of a minor arc of a circle is double that of the angle subtended by

the corresponding major arc.
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